N of reco track vs dxy

[N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F %] F [%]
X~ F X F X X
8 s[ 8 5[ g 8
=0°F =10°F St s
E o F ol Q
F =} - X ‘(_ﬁ‘
F £ 8 102
10*F 1 E
3 E o 10° 3
10°F 10%F--:-
b o 10? 10
10%F 10%F ;-
F [ 10
10fF- 10F--:-
E F 3
- 1=-"|" 1
traseRooSe—aik
RS 212 e ok
— T F T g T 7 ]
[ A TN g
ool l Hﬂ i 05 Ry diiEn ‘.'l--
5 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 O'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L 2
Q I [=] [5)
g g g
al 3 2
B £° S
b =
=}
F =l
10°F 10?
10
107 == aee 10
10F 1
Rl o+ . . 8
: q . F R bR F 3 : : = 14
: i : x x 14 : ; 1
L gooeiee by
. : K : : 0 : { : : : :{ ] : 08f- B2
=30 -20 -10 O 10 20 30 =30 -20 -10 0 10 20 30 =30 -20 -10 O 10 20 30 -30 -20 -10 0 10 20 30

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


